£ TOURATECH [ -*:

TOURING RALLYE RACING TECHNOLOGY \Zm*™™"

09-044-0460- Brake poeraliation Instructions

Parts included:

1 x Brake reservoir cover Alumimum
1 x Retaining clamp Stainless Steel
2 X button head screw hex M4x16

2 x washer M4

2 x nut/nyloc M4

1 x Washer M10

INSTALLATION INSTRUCTIONS:

Remove the right side mirror of your
R1200GS.

Place the Touratech brake reservoir cover
support arm behind the cables so that the
cables are not damaged or squeezed.
Aftach the clamp with supplied screws,
washers and nuts finger tight.

Position the cover correctly close to the
reservoir, reinstall the mirrow and tighten
the screws.

NOTE: With Magura handlebars the cover
044-0470 may need to be bent

right to be adapted or you may need to
put the extra M10 washer between the
mirror hole and the reservoir cover support
arm.

These instructions are at out present level of knowledge. Legal requirement for correctness do ont exist. Thechnical issues subject to change.



